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Lesson 3-Addition and Subtraction
l. Fill in the blanks:
1. The answer of addition is called
2. The numbers which are added are called
3. The answer of subtraction is called
4. Zero added to any number is equal to the
5. Any number — The same number =
6.3160+0=__
7. Any number — zero =
8.565-0=__

9. 6025 -6025 =
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10. 80+100 = 100+ .

11. 30420 =50, the addends are and

12. 35+ (15+80) = 80+15+ .

13. 70430 = 100. The sum is

14. 55-35 = 20. Here the difference is )

[l. Add:
1) 3175 2) 4863
+ 2839 + 2695
5) 5818 6) 3185
+ 2136 + 4011
+ 2004 + 1263
9) 6326
+ 5315

3) 6490

+ 1193

7) 4821

+ 2004

+3695

4) 2999

+ 6676

8) 1025
+4183

+4321

Downloaded ifrom www.studiestoday.com




Downloaded from www.studiestoday.com

[Il.Subtract:

1) 5402 2) 3456 3) 3645 4) 6757
- 4603 - 1892 - 1909 - 3812
5) 3052 6) 7000 7) 8001 8) 8888
- 2511 -5219 - 6992 - 5992

IV. Do the following:

1. In a school library there are 3025 English books, 3275 Science books
and 1835 Hindi books. How many books are there in all?

2. In a school there are 5890 boys and 4075 girls. How many students
are there in all?

3. In a garden there are 4120 red rose saplings and 2342 white rose
saplings. How many saplings are there in all?

4. The sum of two numbers is 7854. If one the numbers is 3435, find the
other.

5. The population of a village is 5690. Out of them 4025 are males. Find
the population of females.

6. Find the difference between the greatest 4 digit number and the
least 4 digit number.
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7. In three different sectors of a city the number of people living are
3112, 2496, 3180 respectively. What is the total number of people
living in these sectors?

8. In a school there are 5905 students. On a rainy day 1009 students
were absent. How many were present on that day?
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